=L =
X n+ %
1. T %4 W AL/ N E BN A L & T3
2. i T3 ¥agdtk — T H30—5
3. T 1 BRIk Hs S 248 12H 14HET
GEPRHNALUOE (B AL OUE, 2 BN L O
4. % A HE 2 RO BB AR g, kR T

CIEMRE B AR E T




AR A0 AL A BRAR A L e fth, T 5+ T EAmFE P N ARE
w oA E & 38,372,400 [
T 5 fil #% & 34,884,000 [
3,488,400 1

{H 2 BiAH 4 %A 4B




% W RN EREEBEE M LSEhITE No.
% b i3] = B i 28 &
[ERZARE Xy
| @51 1] K 11,655,231
| EXEE LHE 1] 2,850,110
0| MR T3 1 = 9,652,541
RN X 24,157,882
Hm gy
I meGeE 1] K 1,076,790
| BUGEEE 1 =K 5,155,125
—E B 1 = 4,494,650
BiSTE 10,726,565
&t 34,884,447
XA gE (T FmES) SHEES 271t e 34,884,000
THE RS Y%A 3,488,400
WA (LEE) 38,372,400




A RIENEREEFE M LBEMTIE No. 2
% b i3] 2 Bifg i ) &

I |BEITS
1 |[EERGETE 1 K 725,901
2 |[BEMEIE 1 = 2,281,765
3 |NERE T 1 X 4,075,556
4 |BEKETHE 1 = 112,559
5 [2oy bR OO T 1 K 2,962,287
6 |- 1 = 1,497,163

&t 11,655,231




£ By AR A/ INFRR A B N A L gt T [ PER] No.
4 g T L2 e AL B & i
I |23k it

1 [MrdaETE
1) SRR I 1 =& 173,290
2) FEAT R BT 5yl 1 =X 1,867,240
Aty MY I 1 = 470,190
3) B R MU REH 1 K 207,180
4) K SRR EELPE S5 1 = 132,210
At 2,850,110




4 AL/ AR PR A L it T 5 [FPeER] No.

4 P ) 32 & AL B A &

I Bk fif T
1| frAas Bk L IRV 3,888,580
2 | FA/KERfE L 1 =K 1,328,860
3 | HEAKERE T 1 K 3,532,891
4 | SRR g 1 K 62,430
5 | THXERb 1 =X 18,600
6 | HAEETHE 1 =K 270,180
7| WMEILEFE M # | BB G T 1 X 551,000

At 9,652,541




